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JAVA TOOLS
PARL-I
Fraifge v Vo) [Sfiraw 37 : 30
Time allowed : /2 Hour] |Maximum Marks : 30

Tz . ) ww v AfEr fud aeEe g 1 A FE
Note : All Questions are compulsory and each question is of 1 mark.
(i) 7 e F s A7 2 e F s e A
Only English version is valid in case of difference in both the lunguages.

1. e g, VO vl #d € 1.  Java programs perform I/O through
(@) rOoTESHd (a) 1/0 methods
(b) IO THTE (b) 1/O package
(c) feo g (c) Streams
) W 3 {d) Compiler
2. Ty H 3l % HH B FEd & 2. A sequence of characters called in
@ R Java
a :
T (a) Strng
(b) . (b) Array char
(c) FIH (c) Group char
(d) e (d) Collection
3. UqeE ¥ s o gl & | 3. The applct‘ class is in
package

Java.applet
(a)  Java.appie (a) java.applet

Java.awt :
f:)) JZ:EL?{) (b) java.awt
_ (¢) java.ao
(d) Java.util @) javautil

P.T.0.
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o § B W A9 0% S O UREE
FHP B €1 € 7

{a) switch (by for

(¢c) while (d) do.... while

(a) FIFH
(b) WEFAH

(c) TIHTHTE
(dy feifeageam

YT T E Al ¥ |
qYS, IRT &9 H umeiE F
U &t g1 T & |
{a) paint( ), update( )
(b} repaint( ), paint()
v update( ), puatnd)
(d) paint( ), paint( )

9 UUm 9 & T W WA Ui §
fewet &m 2

import java.awt.¥;

import java.applet.*;

public class myapplet extends applet {
public void paint (graphics g) {
g.drawstring (A simple Applet”, 20,
20);

1
5

}

{a) A simple applet

(b} A simple applet 20 20
(¢} Compilation error

{d) Runtime error

Bt W W w8 we o
{4} imy ), stan ), create( )

(b} start( ), init( ), paint( )'

(¢ ini( ), star ), paint( )

(4) FWHIsEIg

(2)

_U\
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Which of the following is a Joop that
will always be executed once !
(a) swtch (b) for

(c) while (dy do. . while

A class that 1s inherited 15 calied z

(a) superclass
(b} subclass

(c) subsetclass
(d) relativeclass

The  method takes a graphic

class object as a parameter. Th
method draws the graphics of

the applet in the drawing area.

(a) paint( ), update( )

(b) repaint( }, paint{ }

(¢} update( ). paint( j

(d) paint{ j, pamt{ )

Which message is displayed in the
applet made by this program ?

Import java.awt.«;

import java.applet. *;

public class myappiet extends applet |
public void paint (graphics g) 4
g.drav.‘stxing ("A simple Applet”. 20. 21 1
3

I

{a} A simple applet o
(b} A simple applet 20 20

(¢} Compilation error

(d} Runtime error

Following sequence of method caiis
take place when an appiet begins -

(&) ), stary 3. CTeates

(by  starti ). iniyg ), paint; )

(e} imit( , stary ). painy

{d} none of these |
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Wk UTA? G A O a1y &
() Ruoning dle. born, dead
(b} idle, tunning, born. dead
(o Born, runnng, wle, dead

(3 Runming, dead, bom, die

eri%mn W wM § A F
R AL AT Qv T R &
{2

(b)Y
(v [etem
8 iwfm

90 0 0 T a due miew o o
BEAR A

() drawRectangleg )

by tillCirctet )

(©)  drawAre()

() drawOval()

U a0 TE E SHE o
HH & |

() DrawRectangle( )

(b)  DrawRectangle

() drawrect{ }

() drawRect( )

13 @AWT & T A &

14

(1) Applet Windowing Toolkit
tb}  Abstract Windowing Toolkat
i) Absolute Windowing Toolku
() IR T FIE A

ag urH fFas ered an fafia gl & @
i At Al mesdl & wi W R v 3
Y waTa FY ae, TReiEve Ig 8
U ¥

YRR CE! by W

) fam=m () A

G

It

27
Late cyude of an appie
tar - Running, rdle, borm degd
tby  Tdle tumiung. born. Jdead
tCy  Bornraming, il dead

tdi - Runnmg, dend born, wdle

The selection and separation ot .+ pa
of a image tor Rarther operation pe
called

(a0} Franslation

thy  Rotation

(¢t Retlection

(dy  Clipping

Which of the tollowmg s not o
method of Graphies class ?

(1}  drawRectangle( )

(by fillCurcle()

(<) drawAre( )

() drawOval( )

A rectangle can be drawn by using
the __mcthod.

(a) DrawRectangle( )
(by DrawRectangle
{¢) drawrect{)

(e} drawRect( )

Full torm of AWT

(a)  Applet Windowing Toolkat
(bY  Abstract Windowimng Toolkut
{¢)  Absolute Windowing Toolkit
(Y  Nonc of the above

Which 1s the contamer that contamn
title bar and can also have Menu
Bars 7 It can have other components
like button, textficld cte.

(a)  Panel (by trame
(v} Window (d)  Contatney
PO,
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, o (5 DestArea mesnn
15 dwenfen 4 s ¥ ‘ () A TedArca hassdle 1.
() TR sen b w8 g bl s of esl
Eaed il QBN E (h) A TextAren e be used o
by aerfen wimeqe b dmant M output
I 0 AERTH i | () A FestArca s not o chase,
TOTEE 2L ER (IR IC R IET A8 A (y  Fextmeasare usadl Ly
() Freuian mhesr al fzed B displaving graphes,
0T H e oA bl # ,
6. Dvent class s detmed  moowheh
sde gend A ol o o hbrary
Bl & (1) Javitto (hy  java lany
(4} javinso {by Javabmg (v) Javandl (d)gavautd
(< gavaogt (d) javautil
17 Which of these s supercliss of all
T & @l apll g Enal adapter Classes ?
AT & 7 (1) Applat
Gy Applat {hy Compeonent event
(b)Y Component event (¢)  bvent
(v Fyvent () Input event
(d) Input cvent
18, The Actionlistener nterface is used
ORI TRThE, Udel 920 for handling  action  cvents.  lor
Beget A 1 HYRT 3G I SRR L O 7 example, it is used by a
Forr, g watn W s Swan & (a) JButton
(1) JButton & (h)  JCheckbox
(b)  JCheckbox # () JMC“%’“‘V’“‘
(¢) JMcnultem i () Altof these
T "\- ' Y -
(dy IR at 19, Full form of JEC s
HEC 1 GRS Gy Java Foundation Classes
' R (b} Javu File Component
) Java Foundation Classes N ‘
e () Java P Class
{by Java File Component .
' ) . () None of the above
(e} Fava Final Class
3Tt 4 4wl "y
(J)y 39k 1 &l 200 Followmp  advantages spectfics
L . whom
{aud camt fntran Faga foraqao a2 0 .
T NI #e¥h gl B | I components are lightweiphi
B e i3 s components are platfonm
PHA AL el B "’q‘]'f? ! independent
‘{4:-: MV 3 el B3 7 I follows MV
(v Fan i () Swing
(hy U oy el (by AW
(<) () H(h) fcy  (a)and (by
() SR T W A (d)  None of the above



CS309

1Y

——

JDBRC & st &4

(2 Java Database Conncectivity
(b)Y Java Database Components
(¢d  Java Database Controt

() I T @ wE

# Q I1HA IDBC FHSE W@ €7
(a) javajdbe 3R javax.jdbe
(M javajdbe 3R java.jdbe.sgl
{©)  java.sql AW javax.sql

(d) java.rdb 3 javax.rdb

s

JDBC ST $ AR G ST G 8 2
(@) JDBC grEer TR

(h) JDBC SRR L G

(c) JDBC-ODBC &1

(Q) IuvEe g

JDBC # fiws waie  HAisw,

w0 = oy w9 % fau
WEd A €

(a) UFHEREA

(b) f&ea

(¢) T=a &G

(d) v

F T YT GHERY W TRiEE
s e?

(a) executeUpdate( )
(b) executeQuery( }
(c) execute( )

(d) noexecute()

TEAZ & A9 gl A &
(a) WA FieRT H

(b) UIAT FACY

(c) e Uidtee 9

(d) I @l

23,

25.

2176

JDBC stands for

{a) Java Databasc Conncctivity
(b) Java Database Components
(¢} Java Database Control

(d} None of the above

Which packages contain the JDBC
classes ?

(a) java.jdbc and javax.jdbc

(b) java.jdbe and java.jdbe.sgl

(¢) java.sql and javax.sq!

(d) javardb and javax.rdb

Which class has been the backbone of
the JDBC architecture ?

(a) JDBC driver manager

(b) JDBC driver text suite

(c) JDBC-ODBC bridge

(d) All mentioned above

Prepared statement object in JDBC
used to execute

queries

(a) Executable
(b) Simple

(c) Highlevel

{d} Parameterized

Which method executes a simple
query and returns a single resuit set
object ?

(a) executeUpdate( )

(b) executeQuery( )

(c) execute( )

(d) noexecute( )

The life cycle of a serviet is managed
by
(2) Servlet context
(b) Servlet comtainer
{c) The supporting protocol
(d) All of the above
P10
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27. ¥ W 09T HipScrvlet Response
R R Y
(@)  SendRedirect()
(b} SendError( )
(¢)  SetIntHeader( )
(d) 370 o

HttpServletRequest $=I®W g0 Oy
O tR R & e AT ur faewe
T E 7

(a) getContextPath( )

(b) getServietPath()

(c) getPathlnfo()

(d) I H QR @

Wi F e ap A A d @ 97 3
init( )

service( )

destroy( )

stop( )

5. wait( )

(a) 1,2,3,4,5

b) 1,2,3

(c) 3,45

(d) 1,45

:h:d"l\).a—-

30. =0 9@ FA @ BT WHfE wEee &
fom s & 7
{a) FANF K, gdael & faw &
http %7 W4T T8 T W& ¢ |
FAF WA | http A #T &
HAf Tl & T service ( )
TYT A € |

(b)
(c)

(d)

hitp FEae QA1 § = fFg I
TN YEaAEH QAN

{6}

27.

28.

29.

30.

2176
Which is method of

HttpServictResponse interface ?
{n) SendRedirect( )

(b} SendError( )

{¢) SetintHeader( )

(dy  All of the above

true for

interfacc o

Which  option I8
HttpServietRequest
access path information ?

(a) getContextPath( )
(b} getServietPath( )
(c) getPathinfo()

(d) none of the above

Which of the following methods are
main methods in life cycle of serviet ?

1. init()

2. service()

3. destroy()
4. stop()

5. wait()

(8 1,2,3,4,5
(b 1,2,3

(c) 3,45

d 1,4,5

Which of the following stateu‘xcgis
false about the GenericServlet 7

(a)

that might not use http.

(b) http is implemented in
GenericServlet

() The GenericServlet has a
service { ) method.

{d) GenericServlet is catled by both

GenencServlets 1s for servlets

incoming requests and the htp
requests are given to the serviet.



